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ȳɆɏɊɎ 
ɑɎɞɓɋɋ10 20 30 40

Ⱥɔɖɒəɑɡ10 20 30 40

Ⱦəɘɔɝɓɡɋ 
ɍɆɊɆɝɎ10 20 30 40



1)ȵɋɖɈɡɏ ɝɑɋɓ

2)ȷɖɋɊɓɋɋ ɆɖɎɚɒɋɘɎɝɋɗɐɔɋ

3)ȭɓɆɒɋɓɆɘɋɑɢ

4)ȦɖɎɚɒɋɘɎɝɋɗɐɆɥ ɕɖɔɉɖɋɗɗɎɥ



1) ȶɆɍɓɔɗɘɢ

2) ȷəɒɒɆ n ɕɋɖɈɡɛ ɝɑɋɓɔɈ     
ɉɋɔɒɋɘɖɎɝɋɗɐɔɏ ɕɖɔɉɖɋɗɗɎɎ

3) ȭɓɆɒɋɓɆɘɋɑɢ

4) b  =b * q



1) ȵɔɗɑɋɊɔɈɆɘɋɑɢɓɔɗɘɢ

2) ȵɖɔɉɖɋɗɗɎɥ

3) ȶɋɐəɖɖɋɓɘɓɆɥ ɚɔɖɒəɑɆ

4) Ⱥɔɖɒəɑɡ ɊɈɔɏɓɔɉɔ əɉɑɆ



1) 2; -6; 18; -54;é

2) 30; 60; 120; 240;é

3) 18; 21; 24; 27;é

4) -10; 10; -10; 10;é



ȳɆɍɈɆɓɎɋ ɚɔɖɒəɑɡ



ȳɆɍɈɆɓɎɋɚɔɖɒəɑɡ



ȳɆɍɈɆɓɎɋɚɔɖɒəɑɡ



ȳɆɍɈɆɓɎɋɚɔɖɒəɑɡ



ȪɈɔɋ ɞɑɎ ï3 
ɐɔɓɚɋɘɡ ɓɆɞɑɎ. 
ȷɑɋɊɔɒ ɝɋɘɈɋɖɔ 
ɕɔɏɊəɘ ïɗɐɔɑɢɐɔ 

ɓɆɏɊəɘ?



ȳɆ ɉɖɥɊɐɋ ɗɎɊɎɘ 6 
ɈɔɖɔɇɢɋɈ. Ȱ ɓɎɒ 
ɕɖɎɑɋɘɋɑɎ ɋɟɋ 5. 
Ȱɔɘ ɗɛɈɆɘɎɑ ɔɊɓɔɉɔ 
ɈɔɖɔɇəɞɐɆ. ȷɐɔɑɢɐɔ 
ɈɔɖɔɇɢɋɈ ɔɗɘɆɑɔɗɢ ɓɆ 

ɉɖɥɊɐɋ?



ȹɈɡ ɈɆɞɎ ɇɆɑɑɡ 
əɒɋɓɢɞɆɤɘɗɥ ɓɆ 

30



Ȱ 7 ɕɖɎɇɆɈɎɘɢ 5.

ȰɆɐɔɏ ɔɘɈɋɘ Ɉɋɖɋɓ:

çɔɊɎɓɓɆɊɜɆɘɢè ɎɑɎ

çɆɊɎɓɓɆɊɜɆɘɢè





ȦɓɆɉɖɆɒɒɡ10 20 30 40

ȹɉɆɊɆɏ

ɕɔɓɥɘɎɋ
10 20 30 40

ȵɔɗɑɔɈɎɜɡ10 20 30 40










